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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 HAAHIXIE S 2,500 2,500 0
O OlZAMSME Z2IuSY Y DS S
10,0003 *25H 10| 2,500
14 J|EI2 43 65,000 58,500 6,500
O KHaHoet SEBIAEA 28 S
65,000,000& 65,000
307 QIZ2t01 A 1,500 1,500
01 =¥ 7=H| 1,500 1,500
O ojzAERIBSY ADETY
1,500,000& 1,500
405 XHeHE S| 88,000 0 88,000
01 ML =EFSHI 88,000 0 88,000
O AlEESExR7Y 880, 0002 *100CH 88,000
SIHHXISE ZEkt o=l XI&AS 294,105 240,000 54,105
| 147,053
& 29,410
Al 117,642
301 LPENZ 294,105 240,000 54,105
J| 147,053
& 29,410
Al 117,642
01 Al B& X2 (2 REETHA) 294,105 240,000 54,105
O AL E X2 =ZHI XA
294,105,000 294,105
J| 147,053
= 29,410
Al 117,642
IZHAMHLEXNHE XA (II2) 51,100 64,400 213,300
| 25,550
= 7,665
Al 17,885
201 L2 | 8,500 16,100 AT,600
| 4,250
= 1,275
Al 2,975
01 ArR22lt| 3,000 7,000 24,000
O HAMAHA=SKEH 29 1,600,000& 1,600
| 800
= 240
Al 560
© Il=Hl 200,000 *7H 1,400
J| 700
= 210
Al 490
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03 A= SHI 2,000 6,100 A4,100
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Jl 1,000
== 300
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206 MH=Hl 3,000 17,700 214,700
Jl 1,500
S 450
Al 1,050
01 MHZH| 3,000 17,700 A14,700
O BAAA=NME T2 26 |
= 3,000,000& 3,000
Jl 1,500
& 450
Al 1,050
207 ARl 25,600 0 25,600
Jl 12,800
< 3,840
Al 8,960
02 MAHHEY 25,600 0 25,600
O HAHLZTME IAASD 24
25,600,000 25,600
Jl 12,800
== 3,840
Al 8,960
301 EtE NS 14,000 30,600 16,600
Il 7,000
== 2,100
Al 4,900
11 AALAEIXIES 2,000 2,000 0
O FuHZ=XHH 2 2,000,000& 2,000
Jl 1,000
=S 300
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14 JIEt2 8= 12,000 28,600 16,600
O JAALFHE A =5 S
12,000,000 12,000
Il 6,000
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= 12,499
Al 29,163
307 gl2to| & 41,662 40,000 1,662
=S 12,499
Al 29,163
01 22 7=H| 41,662 40,000 1,662
O WItgLZET 22| A&
41,662,000 41,662
== 12,49
Al 29,163
HAUALS T (DI13) 20,000 20,000 0
Jl 10,000
[ 3,000
Al 7,000
201 el 8,000 15,000 A7,000
Il 4,000
== 1,200
Al 2,800
01 At22t2l] 8,000 15,000 A7,000
O HAABMALIY M2 S
8,000,000& 8,000
Jl 4,000
s 1,200
Al 2,800
207 ARl 10,000 0 10,000
Jl 5,000
=S 1,500
Al 3,500
02 MAHHEY 10,000 0 10,000
O FAALFAHE Jtataly 32t 74
10,000,000 10,000
Jl 5,000
=S 1,500
Al 3,500
301 2= 2,000 5,000 23,000
7l 1,000
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14 0Bt 2a3 2,000 5,000 23,000
O FAalAd & 2P us 2AE S
2,000,000 2,000
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Al 756
101 @124H| 1,080 450 630
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Al 756
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O JAASFAIME SALL XA
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= 324
Al 756
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Jl 10,000
= 3,000
Al 7,000
= 37,615
101 @124H| 53,115 19,961 33,154
Il 7,750
& 2,325
Al 5,425
= 37,615
03 SRA(RIH )22+ 53,115 19,961 33,154
O X&ugdE018 0I2H| S 53,115
> JlEs 2,580,000 x1&+32 7,740
Jl 3,870
= 1,161
Al 2,709
D> XML 7,740,000 4% 310
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Al 109
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2l 645
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> d2g Jtat 60,0002 «1&+2& 120
Jl 60
= 18
Al 42
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[ 48
Al 12
> Sgtl 100,0002«1&x12& 1,200
Jl 600
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Al 420
> 22 RE 23,0402 x 1 *50A[ 2t 1,152
J| 576
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D> GJtE ] 140,000 x1& =10 1,400
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> EEF0HI 1,548,000 x1E+12] 1,548
Jl 774
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> SRH QAH| BFE2
37,615,000 37,615
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207 ARl 4,500 0 4,500
Jl 2,250
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Al 1,575
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O Xtaile Jtaalg st 8 S
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Al 1,575
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201 er23| 2,220 0 2,220
= 666
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© wOITIAGIE 1:1MERIAIR! DIZICHIXI &
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Al 86,331
SelZE Xk XIEHl X3 6,939 8,450 1,511
= 3,470
S 1,040
Al 2,429
307 elzto| & 6,939 8,450 21,51
= 3,470
[ 1,040
Al 2,429
01 22X &I 6,939 8,450 A1,511
O FualdE RIIXz, HFYA Xzl 2
sgd bl Xd s 6,939,000 6,939
= 3,470
< 1,040
Al 2,429
JUAL ST =S 372,847 102,000 270,847
Jl 169,155
== 50,746
Al 118,409
= 34,537
101 @12A4H| 371,027 100,740 210,287
Jl 168,245
= 50,473
Al 17,772
= 34,537
03 SRA(FIH )22 U2+ 365,627 100,740 264,887
O JAAL=AHE dEZele 12l S 365,627
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Al 71,064
> d2=g 90,0003 7 & 122 7,560
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80,0002 18122

> 2 JHH(109014)
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> F2ag Dt (5H014)

50,0002 »2H * 123

40,0003 x 1 +123]

70,000 18 %122

80,0002 x1&x123]

F 40,0003 x3&x123]

o AWM 20,0003 »2& x 122
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Al

in

Al

in

Al

H

Al

H

Al

H

Al
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Al

H

Al

H

Al
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3,780
1,134
2,646

960

144
336

1,440
720
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1,200
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180
420

240
72
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336
5,520
1,440
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168
1,440
720
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= 1,200
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> ARITIZABIA AR ZAISE
12,000,000 12,000
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= 1,800
Al 4,200
D XNGHMALXZAY 2AIY S
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J| 6,000
& 1,800
Al 4,200
> Ots3EAd Az 2208 29
12,000,000& 12,000
J| 6,000
& 1,800
Al 4,200
> OFEEAE HABAAY T2 A
= = 5,100,000 5,100
J| 2,550
& 765
Al 1,785
307 S1ZH0| & 200 0 200
J| 100
& 30
Al 70
01 Q2L ZH| 200 0 200
O OtsEAE HNMEBAHAMY 2l=H| K&
200,000 200
J| 100
o= 30
Al 70
JIZE AAMEAIY 801 &= 36,095 35,489 606
J| 18,047
& 5,414
Al 12,634
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J| 18,047
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Al 12,634
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O KHAMIZAIR f=8Holgd Ol HH| 36,095
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Jl 600
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Il 840
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Il 240
== 72
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> H2XE=E 50,0002 x 18 » 122 600
Il 300
s 0
Al 210
> JESg 1,440
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Jl 240
S 72
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o RMAH 20,0002 x1&8x 122 240
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Al 84
o SMAH 60,0002 x1& 123 720
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Jl 1,320
== 3%
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SEFHUALSEAL X (K20l e) 56,800 72,250 A15,450
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7l 20,000
=S 6,000
Al 14,000
O TAUILDE L MIANY HEHD 24
A S 1,000,000 1,000
7l 500
s 150
Al 350
MIEAE S BHe E Aoy 22 A 12,500 12,500 0
& 3,750
Al 8,750
201 er23 | 12,500 12,500 0
= 3,750
Al 8,750
01 AtR22te|Hl 12,500 12,500 0
O MU 289258 & EF=SS S
12,500,000 12,500
=S 3,750
Al 8,750
e =Es BASMEIA X2AS 5,710 0 5,710
Jl 2,855
=S 857
Al 1,998
201 et 3| 1,710 0 1,710
Jl 855
= 257
Al 598
01 AtR2t2|HI 1,710 0 1,710
O NARSAAS SASE S
1,710,000& 1,710
Il 855
= 257
Al 598
202 04| 4,000 0 4,000
Il 2,000
= 600
Al 1,400
01 =LHOHI 4,000 0 4,000
© £330l 200,000 x5 *42 4,000
) 2,000
= 600
Al 1,400
SUQAAE & JAUMEANE NH 11,189,953 8,327,968 2,861,985
= 6,593,928
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Al 1,477,834
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= 5,209,260
== 2,232,540
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= 5,209,260
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= 70,848
Al 165,312
307 elzto| & 236,160 218,820 17,340
= 70,848
Al 165,312
10 Al SAAEEHE 22X 236,160 218,820 17,340
O JAASSTAIE SALR XA
236,160,000 236,160
s 70,848
Al 165,312
ZIRAANE JIsES 2,769,336 1,080,722 1,688,614
= 1,384,668
s 692,334
Al 692,334
402 212+ X=201H 2,769,336 1,080,722 1,688,614
= 1,384,668
= 692,334
Al 692,334
02 QI XHE AL E R (01X THE) 2,769,336 1,080,722 1,688,614




SN 2L
M AN SF BHA
CHel: HAIQUAIM U HATIEAIL X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 RN Js2Y
2,769,336,000& 2,769,336
= 1,384,668
[ 692,334
Al 692,334
UQAAIE & HUHEANE SAHL SHSAHI 73,800 73,800 0
= 22,140
Al 51,660
307 el2to| & 73,800 73,800 0
S 22,140
Al 51,660
10 AlRISXAZEE 22X 73,800 73,800 0
O JAALSTAIE SAL FHSAHI
73,800,0002 73,800
< 22,140
Al 51,660
SEgE A 80,000 90,000 10,000
Jl 40,000
< 12,000
Al 28,000
ANZEAEE SSAE 28X 80,000 90,000 10,000
Jl 40,000
=S 12,000
Al 28,000
307 21201 & 80,000 90,000 10,000
Jl 40,000
= 12,000
Al 28,000
02 QIZHEAAEE X 80,000 90,000 10,000
O ANZERISYE sSAE 8283
80,000,0002 80,000
Jl 40,000
= 12,000
Al 28,000
XIOH 22| At 1,308,297 1,498,728 A190,431
Il 687,966
= 286,600
Al 333,731
RIOH St A2l AL 10,000 20,000 10,000
307 gl2to| & 10,000 20,000 10,000
01 22X &Hl 10,000 20,000 10,000
O XIOHZ=D|1ZF & 100,000 »100H 10,000
XIHxIZ2teld] XIJ(HEAY) 371,340 371,340 0
[ 241,370




SN 2L
M HAPM SF BHA
Ch2l: XIOH2e AL EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 129,970
301 EtE NS 371,340 371,340 0
=S 241,370
Al 129,970
03 ARSI 2 H A =TS (XILTHH) 371,340 0 371,340
O XIHXIZz2eld] X 371,340,000 371,340
< 241,370
Al 129,970
XIOHEHAL 22l X2 (=hl) 65,000 65,000 0
= 19,500
Al 45,500
201 er2 3| 6,600 6,600 0
= 1,980
Al 4,620
01 AtR2t2|HI 6,000 6,000 0
© TIIKI=O! JHACHE S5 (XIEH)| 22
Ard) 6,000,000& 6,000
< 1,800
Al 4,200
02 S5=2g4l 600 600 0
© XIOHEHR PSEHY)| S4IR3
600,000 600
= 180
Al 420
307 @I2t0| & 58,400 58,400 0
== 17,520
Al 40,880
01 22X 2| 58,400 58,400 0
O MIXIHeA 2525 X
58,400,000 58,400
= 17,520
Al 40,880
ROt M 28 A2 857,707 1,039,514 /181,807
Jl 686, 166
S 25,730
Al 145,811
101 @124H| 547,011 620,878 AT3,867
Jl 437,610
[ 16,409
Al 92,992
03 SR (RINHA) 222+ 519,292 620,878 101,586
O XIHAHE HE201e Ql2H] & WSH
= 519,292
> JlEs 2,353,500« 149 .53 313,028




2A:

H: MoAE B
o CIAH (S &S
- BE . R(31) - HIRAY - BAS il &k e HlmS2
| 250,423
= 9,390
Al 53,215
> KWL 313,027, 0002 %0, 04 12,522
| 10,017
& 375
Al 2,130
> oLy
325,549,000 * 1/ 128 0. 25+23] 13,565
| 10,852
= 407
Al 2,306
> 2= Jhat 8,400
o 5E0l& 50,0003 *14E+12& 8,400
| 6,720
& 252
Al 1,428
> IJtEsg 6,780
SN EON; 40,0002 x5 12& 2,400
| 1,920
T 72
Al 408
o HPHAHA 20,0002 6128 1,440
| 1,152
= 43
Al 245
o =MAHA 60,0002 +3E« 123 2,160
| 1,728
= 65
Al 367
o AIFHolE X4 100,0002* 1«33 300
| 240
= 9
Al 51
o J|Et Jt=w 20,0002 2%« 123 480
| 384
= 14
Al 82
> W&l 100,000& 14 +9 .53 13,300
| 10,640
= 39
Al 2,261
> Sl 140,0002 14 +9 .58 18,620




SN 2L
M HAPM SF BHA
Ch2l: XIOH2e AL EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| 14,8%
= 558
Al 3,166
> CHRIXIA=E 50,0003 149 53 6,650
| 5,320
& 199
Al 1,131
> SXIF4AH| 50,0003 *14%H+9 53 6,650
| 5,320
& 199
Al 1,131
> flEgsg 40,0002 149 .53 5,320
| 4,256
& 160
Al 904
S
20,6823 * 14 «200A1 2+ 57,910
| 46,328
= 1,737
Al 9,845
> GO AH| 110,303 x 12«15 19,855
| 15,884
& 5%
Al 3,375
> HEIOHI 1,412, 15431128 +23| 33,892
| 27,114
& 1,017
Al 5,761
> W=H| 100,000 *14H 23| 2,800
| 2,240
= 84
Al 476
MU IIRHNZ2EXsEs 27,719 27,719
O XIDHSHAHIE =02 CHAICIE Ql2iH| 27,719
> JlE= 2,161,50& x2H 43 17,293
| 13,835
= 518
Al 2,940
RSP/ Fals] 17,292, 7202 %0.04 692
| 554
& 21
Al 117
> IOtEsg 480




A AL
HE: DASIM SE B4
Ch2l: XIOH2e AL
RN - I BRA(E) - HRA - BES of v A
o B 40,0003 x2H 42 320
Il 256
= 10
Al 54
o HMXAH 20,000 =2 *4Z 160
Il 128
S 5
Al 27
> wsSHl 100,000& 2 *4E 800
J| 640
S 24
Al 136
> Sl 140,000 2 *4Z 1,120
Il 8%
S 34
Al 190
> HeIXE =g 50,000 x2H 42 400
Il 320
= 12
Al 68
> SXI=H44] 50,0002 2«43 400
Il 320
= 12
Al 68
> fgg 40,0003 x2H 42 320
Il 256
= 10
Al 7
> ESIHI 1,296,950 x2& *13] 2,594
Il 2,075
= 78
Al 441
> W= 50,000& x2E =12 100
7l 80
S 3
Al 17
> S0 200,000 x2H*4E 1,600
Il 1,280
S 48
Al 272
> 2= 240,000& x2H 42 1,920
Il 1,536
s 58




SN 2L
M HAPM SF BHA
L XIDHZ2I AR (Shol: % 2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 326
201 B2 AY| 61,303 187,114 A125,811
| 49,042
& 1,839
Al 10,422
01 At 22|l 37,903 114,714 AT6,811
O XIDHetadY MEolE TS|
200,000& =14 2,800
| 2,240
= 84
Al 476
© ZIOHCHAIMIH 29 =28 7Y S
13,703,000& 13,703
| 10,962
& 411
Al 2,330
0 #H S Z2IY 29 28 7
20,000,000& 20,000
| 16,000
& 600
Al 3,400
O XISAS| XIOHESIM &8-S
100,000& 7 E*23| 1,400
| 1,120
= 42
Al 238
02 324l 3,400 2,400 1,000
O RHEHFY L SES LE2 S
3,400,000& 3,400
| 2,720
= 102
Al 578
03 &At2ZH] 20,000 70,000 250,000
O X == & AL S
13,000,000 13,000
| 10,400
& 390
Al 2,210
© XIOHeIADHA 2HHIQI S
5,000,000& 5,000
| 4,000
= 150
Al 850
© XIDHCIADHA eld=3 S
2,000,000& 2,000




2A:

X XH -
o=

el XI0H A (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 1,600
=S 60
Al 340
202 04| 1,900 4,000 A2,100
7l 1,520
= 57
Al 323
01 2K 1,900 4,000 22,100
O XIDHtSHIE HRFT0L|
100,0003 *5& *13] 500
2l 400
= 15
Al 85
O XIHAAHE HE2elE W0
100,000& 14 12] 1,400
Jl 1,120
=S 42
Al 238
301 22N = 87,493 107,522 A20,029
7l 69,994
S 2,625
Al 14,874
11 #AIAHIXIE S 10,000 15,000 25,000
O Xfetadie 20 e =4, Uk 8
10,000,000 10,000
Jl 8,000
= 300
Al 1,700
14 JEt2a s 77,493 9,522 215,029
O RIOHtAMHIE EHAA(EES) =€ S
343,000 x515= 17,493
Jl 13,994
=S 525
Al 2,974
O XIOHOtAHIE =28 2 LAl=E
,000,000 20,000
Il 16,000
== 600
Al 3,400
O Xt HE 012X nS(S5F)Hl XA
40,000,000 40,000
Jl 32,000
== 1,200
Al 6,800
307 lztol & 160,000 120,000 40,000




2A:

ES
T BoAN +F Fu
Sl XIOHZEI ALY o &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 128,000
=S 4,800
Al 27,200
01 22 7ZH| 160,000 120,000 40,000
O MIIXIOHEt =225 +
140,000,000 140,000
7l 112,000
= 4,200
Al 23,800
© XIH=D|1Z&H| 20,000,000 20,000
Jl 16,000
= 600
Al 3,400
SN S3=A XA 2,250 2,874 N624
7l 1,800
Al 450
301 LEIE NS 2,250 2,400 A150
Jl 1,800
Al 450
14 IIEt2 83 2,250 2,400 A150
O Xis==Ad2 &5t 2,250,000& 2,250
Jl 1,800
Al 450
RIOHOrAMIE 2 2,000 2,000
405 AtatE=H 2,000 2,000
01 TR =S FISHI 2,000 2,000
O XIOHQtAIHIE 298 & =
2,000,000 «1CH 2,000
CoIMEEE 2l 122,400 4,000 118,400
groldzga X 122,400 4,000 118,400
201 er23 | 2,400 4,000 A1,600
01 At2teltl 2,400 4,000 1,600
© HMI3BAIE= FIICHE S
1,200,000 *23] 2,400
405 AtatE = 120,000 120,000
01 TR ESFSHI 120,000 120,000
O =MAEEEZER A 120,000
> ga I 2 80,0002 +86H 68,800
> g 4FH 2L 400,000 ~86CH 34,400
> 1 A0t 71 500,000 <9 4,500
> ga dE 3D 1Y 600,000 « 12CH 7,200
> Es A0 7Y 1,700,000 «3CH 5,100
238 a2t 4,039,949 5,504,733 A1,464,784
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SN 2L
M g S
ol ZE8Y S HAHRS EER=E)
A - B G(3H) - NRAY - HES ol b e HlmS2
| 5,603
Al 5,604
> 2= 2,801,6002*0.5+23| 2,802
| 1,401
Al 1,401
> 324 D 100,000& x1H + 122 1,200
| 600
Al 600
> &2I2s = 30,0003 1123 360
| 180
Al 180
> WSl 100,000 x1H +12& 1,200
J| 600
Al 600
> Sl 140,000 1H + 122 1,680
| 840
Al 840
> OHelXI& 50,0003 x 1+ 12& 600
| 300
Al 300
D> Sel=44| 50,0003« 1Z 123 600
| 300
Al 300
> flgsg 40,0003 =1F* 123 480
| 240
Al 240
> ZU2RA 25,0003 x 1 *xBAl 2+ 2,375
J| 1,188
Al 1,187
> GO AMH| 134,000 10 1,340
| 670
Al 670
> FEFIHI 1,662,000 *1H*23] 3,324
| 1,662
Al 1,662
> S2& oA
30,000,000& 30,000
= 30,000
SIHHYE S AAl 1,741,902 1,842,391 A100,489
J| 870,951
& 261,286
Al 609,665
307 212+01 A 1,741,902 1,842,391 100,489




SN 2L
g 488 sE2a
ol ZE8Y S HAHRS EER=E)
S - ZE - BR(E) - ARANY - BES ofl &t e DS
Il 870,951
=S 261,286
Al 609,665
01 22 7ZH| 1,741,902 1,842,391 100,489
O ool HeEES 588,524,000 588,524
Il 294,262
= 88,279
Al 205,983
O OEl0ld RAE =St AS=UX} o
LES 129,336,000 129,336
Il 64,668
= 19,401
Al 45,267
© 13Ml O18l0] ASFAX} HLES
20,090,000 20,090
J| 10,045
=S 3,014
Al 7,031
O AR ST HLES
4,840,000 4,840
Jl 2,420
s 725
Al 1,695
O dol HgEs 980,900,000& 980,900
J| 490,450
=S 147,135
Al 343,315
O HV HEES 16,966,000 16,966
J| 8,483
S 2,545
Al 5,938
O BEH2ZE F4D|2rE MlZAIY XI&
1,246,000& 1,246
Il 623
== 187
Al 436
D2LH9 L EE AESIZII2 AI#Hl X2 (2H]) 856,192 1,996,520 1,140,328
= 428,096
s 128,429
Al 299,667
307 21201 & 856,192 1,996,520 1,140,328
= 428,096
= 128,429
Al 299,667




2A: BHA
A 2y &2
Chol: Ay ZEBR| HHPE (Shol: % 2)
SA - B - G9I(3H) - HRA ol b e HlmS2
01 9= 7=H| 856,192 1,996,520 21,140,328
O DZLHI9 HIEES S22 AI—>HIX
& 856, 192,000& 856,192
= 428,09
= 128,429
Al 299,667
0l01= L Heolet XIXMEZR(HEERCSH AlQF) 1,780 1,780 0
| 890
= 267
Al 623
307 212+01 A 1,780 1,780 0
| 890
= 267
Al 623
01 =¥ 37=H| 1,780 1,780 0
O HYRICAISR 1,780,000& 1,780
| 890
= 267
Al 623
olol= & Aot XIXHMEE(U0I= &AL 3,2% 3,296 0
| 1,648
& 44
Al 1,154
307 gI2Hol 3,2%6 3,296 0
| 1,648
& 44
Al 1,154
01 2L HZH| 3,2%6 3,296 0
© OI0I=&ITHAISF 21 3,296,000& 3,296
J| 1,648
& 44
Al 1,154
Olol1= 2 HdYEollet XXHE (001 =&8kt Z=4]) 16,388 20,2% A3,906
J| 8,194
= 2,458
Al 5,736
307 212+01 ™ 16,388 20,294 A3,906
| 8,194
= 2,458
Al 5,736
01 =¥ 7=H| 16,388 20,2% A3,906
© OloI=&tX} &= | 16,388,000 16,388
| 8,194




SN 2L
g 488 sE2a
el 288 SE2 MAFP= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,458
Al 5,736
288 Us 263,160 194,316 68,844
101 @12A4H| 182,160 113,616 68,544
MU IIRINZZE2NSES 182,160 113,616 68,544
O Z83E s IstEM & 28 22 182,160
> QIR 2,380,000 «6E ~ 122 171,360
> 282 150,000& x62 123 10,800
201 er2 3| 25,300 30,000 A4,700
01 At2tltl 25,300 30,000 A4,700
O 2ZE s 222 M L UM S
2002 x25+50,0000H 20,000
O HEHAL 0ISE X-RAY FJI A
300,000& %12 300
O S ZHE =T HIlSHel
200,000& »252 5,000
302 01 Mot 2 &= 5,000 5,000
02 2N S ES243 5,000 5,000
O 2EEHR 2 2=
5,000,000& 5,000
307 @120l & 50,700 50,700
01 22 +=H] 50,700 50,700
O A& ZEYE S 50,700
D> olaetht g 38|
57,0002 100 5,700
D> olaetht 2 B
15,0002/ +3,000& 45,000
IZUH-19 Al XZHl XA 42,000 92,040 /50,040
= 21,000
= 21,000
307 @I2t01 & 42,000 92,040 A\50,040
= 21,000
= 21,000
01 22X 2| 42,000 92,040 /50,040
© D219 HelY|_XI=Hl K
42,000,000 42,000
= 21,000
== 21,000
HEX| = 2l 67,600 67,600
201 fet= 3| 67,600 67,600
01 AtR2t2lHl 64,000 64,000
O 22U 19 MEXE =3 tish]
8,000& 6, 2502] 50,000
O 22Ut 19 HEXI= SS0ISXE Xz
150,000& *602] 9,000
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SN 2L
g 488 sE2a
ol ZE8Y S HAHRS EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 16,384
=S 4,915
Al 11,469
SHAIHSHA X2 X (&HI) 1,680 1,785 A105
== 504
Al 1,176
307 lztol & 1,680 1,785 A105
= 504
Al 1,176
01 22X+ &H| 1,680 1,785 A105
O steigetkt A2 X2 1,680,000& 1,680
= 504
Al 1,176
sty RE 29HI(<Hl) 34,000 34,000 0
== 10,200
Al 23,800
307 212+01& 34,000 34,000 0
< 10,200
Al 23,800
02 2IZHB A E & 34,000 34,000 0
© BHMIFEE NRIIBEY
34,000,000& 34,000
= 10,200
Al 23,800
SHAQITI O AP M & EALR P Z X2 53,040 46,920 6,120
= 53,040
301 EtE NS 53,040 46,920 6.120
= 53,040
01 AR 2EHSHS(RNEXRTH) 53,040 46,920 6.120
© shullQl HloHAt2 LIoHAL ME X3S
53,040,000 53,040
= 53,040
SaA ARG (ZHAFHE FFEXZAL § 0HI) 2,120 3,200 1,080
7l 1,060
Al 1,060
202 04l 2,120 3,200 /1,080
Il 1,060
Al 1,060
01 =LHA LI 2,120 3,200 1,080
© =2 FS AL S 0]
2,120,000& 2,120
) 1,060
Al 1,060




SN 2L
g 488 sE2a
&2l 2gy sZ2e dA+= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL Zae|Alg(Z2Ae|QE 2lH|) 73,592 72,360 1,232
Jl 36,796
Al 36,796
101 @12A4H| 73,592 72,360 1,232
) 36,796
Al 36,796
03 SRA(RIH )22 U2+ 36,796 72,360 A35,564
O ZHaAC|IQAE 1Al S 36,796
> olEs 2,195,000« 1& 128 26,340
7l 13,170
Al 13,170
> E SO 2,195,000 x22| *60f% 2,634
Jl 1,317
Al 1,317
D> AlZele=E
19,0002 x 1 *20A1 2t 122 4,582
Jl 2,291
Al 2,291
> OtE=E ()
40,0002 x 1 x 122 480
Jl 240
Al 240
D> XMSLIHAH 2,760,000 2,760
Il 1,380
Al 1,380
M ORINZZ2NSE S 36,796 0 36,796
O ZH2e IRV 1AHHl S 36,7%
> JlEs 2,195,000« 1H* 123 26,340
Jl 13,170
Al 13,170
> o4l 2,000,000& 2,000
Il 1,000
Al 1,000
> RUASRES 200,000 122 2,400
Jl 1,200
Al 1,200
> ALESEIES 200,000& 12 2,400
) 1,200
Al 1,200
> ANQLEER 7,0003x 122 84
2l 42
Al 42
> NEESERYES 80,000& * 122 960




SN 2L
g 488 sE2a
ol ZE8Y S HAHRS EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
7l 480
Al 480
> AHESEE 35,0003+ 122 420
Jl 210
Al 210
D> XMLIHAH 2,192,000 2,192
Jl 1,096
Al 1,096
HHA B A (AIZ) 69,440 69,340 100
Il 34,720
== 10,416
Al 24,304
201 =3 3,470 3,340 130
7l 1,735
= 521
Al 1,214
01 AtR2tc|HI 3,470 3,340 130
0 2IRHBL| 2Y(ABTAIR)
3,470,000 3,470
7l 1,735
= 521
Al 1,214
301 EtE NS 5,890 5,600 290
7l 2,945
= 883
Al 2,062
01 Al EE A S (2 RDEXMA) 5,890 5,600 290
O BT HEX HoRBHHIX
4,130,000 4,130
Jl 2,065
= 619
Al 1,446
O grdEdg 2z 29
1,760,000& 1,760
7l 880
= 264
Al 616
307 @I2t01 & 60,080 60,400 A320
7l 30,040
= 9,012
Al 21,028
01 S22 &l 60,080 60,400 A320
O =JtZsiae| JSt XA 2 14,500
> 2|2 Zad 12,000,000 12,000




SN 2L
2 2@y sF22
ol ZE8Y S HAHRS EER=E)
SA - HB . S(H) - HIRAY - BAS 0 &y e HIRS2
J| 6,000
T 1,800
Al 4,200
> ASEAE JIRWSTY
2,500,000& 2,500
J| 1,250
T 375
Al 875
O M AN L WS N
10,170,000 10,170
J| 5,085
T 1,526
Al 3,559
© FOHE ZEBRIAIY (L 0IAA)
30,430,000 30,430
J| 15,215
= 4,564
Al 10,651
O SEAE AN Z=ZHA AT
4,980,000 4,980
J| 2,490
= 747
Al 1,743
NASZSHEINILNES 1,390 1,197 193
& 417
Al 973
307 CI2tOI A 1,390 1,197 193
= 417
Al 973
01 2L =H| 1,390 1,197 193
© Z3 Y T=EZSS LM 2
1,390,000& 1,390
= 417
Al 973
AR A ALY 15,320 15,127 193
& 4,5%
Al 10,724
307 CI2t0I A 15,320 15,127 193
& 4,5%
Al 10,724
01 2L =H| 15,320 15,127 193
O ZHAS AL AAS 15,320,000& 15,320
T 4,5%
Al 10,724




SH: BAL
S HY2IAH(BHL)
TR olHAR2IY(EHA) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
HYSHHH|(BAHA) 9,753,3% 9,402,733 350,662
| 9%,520
& 28,954
Al 9,627,921
OlHESAY|(EAHA) 9,288,745 8,926,263 362,482
| 9%,520
= 28,954
Al 9,163,271
ClHASHH|(EAHA) 9,095,705 8,926,263 169,442
101 2124 d| 8,774,157 8,641,179 132,978
01 8= 6,939,590 7,116,608 A177,018
o == 4,595,342
> 43 (HsSH) A, 424,000« 1B 14 A,424
> 53 (HsSH) 83,632,000 x4 F 14 334,528
> 62(453) 4,165,000 x36H =12 1,799,280
> 72(1458) 3,162,600 x26H 12 986,732
> 82(b&3) 2,075,500 475« 12& 1,170,582
> 9233 3) 1,748,300& 108« 12& 209,7%
(©ISEY] Falsll 4,595,342,000& *4% 183,814
O =32 =% 63,164
> 52 e 4,165,000& x4 1%+21E + 12& 43,033
> 6= U* 3,162,600& 4, 1%+ + 12& 14,004
> 7= U 2,075,500& *4 1%+6 % * 122 6,127
O FZ2=+E 2 Jrtg 479,623
> 2 398,263,000 *50%*23| 398,263
> MRS (20 0] A
100,000& *36 + 122 42,000
> A3 (1520 0] 4)
80,0003 x2F 123 1,920
> HZ2EIHAIZ(10E 0] A~15E0(2F)
60,0003 *16E+12& 11,520
> AZ2EIHAZ(5E 0] A~10E0]2F)
50,0003 =218 *12& 12,600
D 224G FIPHAH25E0]4)
30,0003 *36Z 12 12,960
> AZ2aE FIDHAH20H 0] A~25E0]2F)
10,0002 x3H*12& 360
O Jts=g 49,920
> =L
40,0003 *508 « 12& 24,000
> AP 20,0003 228« 123 5,280
> EMAH 60,0002+ 13+ 12& 9,360
> AW AHEHO0I= 100,000 x2H + 12& 2,400




SN 2L
M HARAZH|(EHL)
ool QIARAH|(BAL) (S &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
> OtE=EOIEIHS)
20,000&4+37F 122 8,880
O S0ts2=H 1,300,000 x5&* 12 78,000
O fE2R=E 37,200
> =5 50,0002 2~ 123 1,200
> g3 40,000 x75EF « 12 36,000
O Jl=8d=2=H 21,600
> 5= 50,0003 4 128 2,400
> 67 30,0003 *36H 122 12,960
> 8=0lot 20,0003 x26EH « 12 6,240
O JI=38E Int=s 5,040
> JIEEE IS (IIAL
30,0003 »3& * 128 1,080
> JIESEHE IS (AAIIAL
20,0003 15« 128 3,600
> JIEEE NS (2A 672)
10,0002« 1H 122 120
> =L N3 (2 892)
20,0003 1 x 128 240
O 2z YR=H 86,400
> 2= 250,000 x25E « 12 75,000
> 2ts 50,0002 +16F 122 9,600
> SIZJIAL 50,0008 x3& * 122 1,800
O S¥s 22=E 70,0002 x40F ~ 128 33,600
O A=K
70,0003 128128 10,080
O MIEXYRSY (OH3)
30,000 »2& * 128 720
O Hla2R+E 32,0002 %80~ 122 30,720
O REsREE 50,000 x3& * 122 1,800
O Alte|22+E
10,0303 * 124 #45A| 2H+ 122 +70% 470,127
© 2 d=s 13,275,430 x 102 +80f% 106,204
© FAHZAHI 140,000 x124H 122 208,320
© FE=IHI 398,263, 000& +60%*2=2] 477,916
02 JIEtME = 799,650 782,423 17,227
O PIINSRE(ASH) 799,650
> s 338,710
o LBAIINI(5=)
74,661,000 x2H 14 149,322
o ARMHIEAIIMI(LIZ)
57,688, 100& »1H 14 57,689
o AlZHHEADIHI(2HS)
40,523,400 2+ 14 81,047




2A: BHA
M HHRIHH(EHL)
TR olHAR2IY(EHA) (CH9: /M)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o AlZHESINI(0r2)
37,623, 7003 x1H+14 37,624
o M| 325,682, 00021 4% 13,028
> Jbmag 240
o J|EDE 20,0003« 1« 128 240
> ARIRIRRs
0,300 *8Y *30A| 2H+70%x 12I1 & 20,765
> GO AH| 0, 8602 10 *80% 7,527
> ZMGAH| 140,000 x6 % » 12 10,080
> ozHRE 1,289,000 x2H+ 12 30,936
> e 1,080,000 «26%H 123 336,960
> g 40,0003 26122 12,480
> FIHRESTe=
270,000 x10Y ~ 122 32,400
> SR 199,000& x4 » 123 9,552
03 BRA(RIAHY)2E2XNE S 1,034,917 742,148 292,769
0 JI=B (N E7, SIS, 2SS ML,
FAL3, X R A AL2, B ALR4) 636,325
> HIARH 2,437,902 +4B*12& 117,024
> A=A G 2,545 50« 17H 123 519,301
(©RVS Y Fals] 636,325,000 *4% 25,453
O 24 55,148, 160& *50%+23] 55,149
O Z24g nizg 17,520
> HZ2YIHZ(20E0(4)
100,000& 1= 123 1,200
b EIREIIE(15E0]4)
80,0003 6« 12& 5,760
> EIAEIAS(10E0]4)
60,0002 +3E+ 123 2,160
> H2aYIHZ(5H014)
50,0002 «8H+12& 4,800
R S PN ENS
300,000&x 1"~ 122 3,600
O FII2AELY(2H10H014)
80,0002 5«12 4,800
CPIEe 12,480
> <X 40,0003 1Y+ 123 5,280
> AWM 20,0003 x7H« 128 1,680
> SMAH 60,0002 4« 123 2,880
> JIEHS 20,0003 *11H 122 2,640
© uwsH| 100,000& x21H+ 122 25,200
(OR=1{s] 140,000 x21H+ 122 35,280
O glA==g 50,0002 2%« 123 1,200
O UeIXI#=E 50,0003 x21H 122 12,600
© =SX=4H| 50,0002 *x21Hx 123 12,600




SN 2L
MY #™oAY| (22D
Cel: QIHARAHI(E2A) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O fg=g 8,160
> HgES S 40,0003 =17 ~12& 8,160
O A22I22+¢
21,3192 x21H*200A[ 2t 89,540
© Aot 4| 113, 7013 x21E 15 35,816
© FESIHI 1,495,074 x218 23] 62,794
204 AR AH| 321,548 285,084 36,464
02 M=l 258,848 221,784 37,064
© AZ2xH| 258,848
> 4= 400,000« 1H* 122 4,800
> 55 250,000 x4E~12& 12,000
> 65 175,000 «33F « 122 69,300
> 7= 165,000 «26H * 123 51,480
> 8= 155,000 x46EH 122 85,560
> 9= 155,000& x10& 128 18,600
D 2EADIIM(SIA 524 E)
400,000 x2H 123 9,600
D> ARSI IH (64 Y HEAAEAL
218,750 x 1 =123 2,625
D AIRRHSEHADIM (824 E LAKTAL, S
AI2IAL) 135,620 2 x 123 3,255
D AIRIEEAIIM (924 SEREAL)
135,620 x 1 %123 1,628
03 E3g =3l 62,700 63,300 A600
O Hergsyl 62,700
> 6=0lot &
50,0002 «100E 122 60,000
D> &JIM(2AAL 52 4E)
50,0002 x 18 » 122 600
D> AIRHIERE DI 43,7502 x4 x 122 2,100
IH2AH(MHARZAASKEAIY) 193,040 0 193,040
Jl 96,520
= 28,954
Al 67,566
101 @124H| 193,040 0 193,040
Jl 96,520
< 28,954
Al 67,566
02 JIEtM = 193,040 0 193,040
O I SR (HSH) 193,040
> s 138,000
o 25 2,300,000 x5« 122 138,000
Il 69,000
= 20,700




2N BAHA
MY #™oAY| (22D
TR olHAR2IY(EHA) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 48,300
> HAZAH| 140,000& x5+ 12 8,400
| 4,200
& 1,260
Al 2,940
> EFASLH 138,000& x5 H +8H 5,520
| 2,760
& 828
Al 1,932
> IJIEsY 100,000& x5 *12& 6,000
| 3,000
& 900
Al 2,100
=1l 100,000& 5F 122 6,000
| 3,000
& 900
Al 2,100
> AZE XY 128,000 *5F 122 7,680
| 3,840
& 1,151
Al 2,689
> CHelE=H| 44,0003 «5F =128 2,640
| 1,320
& 39%5
Al 925
> HESIHI 1,380,000 *5F *23] 13,800
| 6,900
& 2,070
Al 4,830
> =Ry 200,000 *5Z 53 5,000
| 2,500
& 750
Al 1,750
Jl2dul(8AL) 464,650 476,470 211,820
Jl2du(8AL) 464,650 476,470 211,820
201 B2 AY| 76,510 74,930 1,580
01 A=R2teld| 76,510 74,930 1,580
0 224 MA(BLH,B2E) I
60,000,000& 60,000
O 249 7,960
> g 60,000 *1H*116 6,960
> NGB AHAMQRRAG =Y
100,000 10X 1,000
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